20255 K 228 KFHRY=7Yvh—U—" HiHBE
A H B FE B F — L Ez H
18:00 FClHY#® X FY—LKEFL=FFC ODI=BIEMNFCI =T
48128 19:00 V=B MFCO =7 X S—HI=7F KFFC
20:00 MY =F7FC X KFEFC HE—H =7
18:00 tILRYHR X BFH+#FC FC Liberamente
4819H 19:00 FC Liberamente X FCIHY® K y—LKES=FFC
20:00 F)—LKEL=FFC X O=bENFCI=F FCITY %
18:00 £ )LRyH ZX50 X JEIRSSS FCI+Y 50
4826H 19:00 FCI+Y 50 X VDI=BEMFCL =750 LR Z50
20:00 JKEFC50 X RIFA+#FC V=B MNFCL =750
18:00 S—H-=7F X M =FFC ILRYHR
5838 19:00 KEFC X TILRYHR BErm+#FC
20:00 Brm+#FC X FC Liberamente KEFC
18:00 FClHY#® X VDI=bEMNFCO =T ILRYH R
58108 19:00 B =FFC X TILRYHI X HE—H-L=7F
20:00 RI)—LKEL=FFC X E—HIZ7F M =FFC
18:00 KFFC X FC Liberamente E—HIZF
58178 19:00 S—H-L=7 X TILRYHRX M =FFC
20:00 TR =—F7FC X BFH+#FC ILRYHR
18:00 Brm+#FC X K y—LIKFL=FFC FC Liberamente
5824H 19:00 FC Liberamente X VI=BENFCO=F KFFC
20:00 KEFC X FCITY®% V=B MNFCL =7
18:00 LRy X50 X JKFFC50 Fy—LKFEL=FFC50
5A31H 19:00 FI—LKFL=7FC50 X BFA+#%FC S—H R4V HITA
20:00 VI=BHEMNFCI =750 X HE—Y-Z42H9T43 BIFA+#FC
18:00 FU—LKFELZFFC x FC Liberamente OI=BENFCI =T
6878 19:00 VI=bHEMFCL =T X BFFm+#FC FCITY%
20:00 FCITY % X wILRYY R Br+#FC
18:00 FCIHY% X -7 FI)—LKELZ=FFC
68148 19:00 F)—LKFL=FFC X M —FFC VI=bHEMNFCL =7
20:00 ODI=bHMNFCL =T X KFFC M =FFC
18:00 S—H-L =7 X KFFC BTPa+#FC
68218 19:00 FCIHY%H X Brm+#FC FC Liberamente
20:00 ZE=FFC X FC Liberamente FCIHY&%
18:00 S—H¥ RO IVA X FCITY) 50 LRy Z50
68 28H 19:00 KUy—LKFL=F7FC50 X )Ly X50 JEIRSSS
20:00 JEIRSSS X JKFFC50 F1J—LKF L =FFC50
18:00 TILRYHI X P FC Liberamente KFEFC
7A5H 19:00 FI)—LKFL=FFC X KFFC BrU+#FC
20:00 S—HL =7 X BFrH+#FC FI)—LKEL=FFC
18:00 KFFC X BF+#FC ZRBL=FFC
78128 19:00 FCIHY%H X M =FFC TILRYH R
20:00 VI=bEMFCL =7 X TILRYY R FCITY &%
18:00 K1)—LKFES=—7FC50 X JEIRSSS BrA+#FC
7R198 19:00 BrA+#FC X S—H- 49T A LRy Z50
20:00 V=M FCL =750 X £ )Ly X50 HE—H- R4V 9T A
18:00 VI=bEMFCL =7 X LM =FFC HE—H-L =7
8H2H 19:00 E—H-o=7F X FC Liberamente FIy—LKXKFLZFFC
20:00 FU—LKPFL=FFC X TILRYORX FC Liberamente




20254 $228 KFHERL=7Yvh—)—4 #“HBEE

A H B X B F — L z H
18:00 JKEBFC X ¥R =F7FC ODI=BEMNFCO =T
8H9H 19:00 S—H-L =7 X DI=bEMNFCL =7 KFEFC
20:00 Fi)—LKFL=—FFC X FCITY®H S—H =7
18:00 HE—H 24 HT4 X JKFEFC50 FCI+Y 450
8H 238 19:00 FCl+Y %50 X Fy—LKFEL=FFC50 BRFE+#FC
20:00 BrA+#FC X YERSSS F)—LKF L =FFC50
18:00 O=bHEAFCI=F X FY—LKEL=FFC FCIHY&%
8HA30H 19:00 FCHY&%H X FC Liberamente ILRYHORX
20:00 Brm+#FC X ILRYHIR FC Liberamente
18:00 FC Liberamente X Brrm+#FC TILRYH X
9A6H 19:00 FILRYY R X JKFFC E—H =7
20:00 TR =—7FC X HE—H-L=7 KFEFC
18:00 S—H-=7 X FI)—LKELZ=FFC KM =FFC
98138 19:00 ILRYY R X TRV =—7FC S—H4-L=7
20:00 DI=bHMFCI=F X FClHY% ILRYHR
18:00 )L Ry X50 X BFA+#FC VD I=BHEMFCL =750
9820H 19:00 V=M FCL =750 X JEIRSSS KFEFC50
20:00 FCI+Y 50 X JKFFC50 JEIRSSS
18:00 FCIHY%H X JKFFC FI)—LKEL=FFC
98278 19:00 R)—LKBEL=FFC X RFM+#FC OB MNFCL =7
20:00 OI=bEMHFCL =T X FC Liberamente BrE+4£FC
18:00 Brm+#FC X LR =7FC KFEFC
10A4H 19:00 FC Liberamente X JIKFFC LR =FFC
20:00 ILRYHY X X HI—H-L=7F FC Liberamente
18:00 BrFAE+#FC X W=BHEMNFCI=F50 K FEFC50
108118 | 19:00 7KFFC50 X Ry—LKFEL=FFC50 | ODFf=bEMFCI =750
20:00 LRy ZX50 X HEI—H-Z4H9TB | F)—LKEL=ZFFC50
18:00 KFEFC X OI=BIENFCI =7 M =7FC
10188 | 19:00 TR =FFC X FI)—LKEL=FFC ODI=BbHEMNFCL =T
20:00 HE—H-L =7 X FCITY#®% KI)—LKEL=FFC
18:00 wIILRYHR X FCITY % BT+ #FC
10A258 | 19:00 RTPE+¥#FC X DB MFCI =7 FCITY %
20:00 FC Liberamente X FIYy—LKELZFFC WI=BIEHFCL =T
18:00 FC Liberamente X ZHMI=FFC FCHY®&
11818 19:00 B+ #FC X FCITY®% FC Liberamente
20:00 KFEFC X HEI—H-L =7 RTPE+#FC
18:00 BErm+#FC X HE—H =7 R )—LKFEL=FFC
11A8H 19:00 KFEFC X FI)—LIKEL=FFC RrM+#FC
20:00 FC Liberamente X ILRYHO X XKEFC
18:00 FIy—LKBEL=F7FC50 X VEBEMNFCL=P50 | AS—H-XqV9TU4%
11A158 | 19:00 JEIRSSS X HEI—H- 249 A FCITY) 50
20:00 FCI+Y #50 X 2 JLRyH 50 EIRSSS
18:00 IILRY YR X D=BHEMNFCL=7F FCITY %
11A228 | 19:00 B =7FC X FClHY% ILRYH X
20:00 Br+#FC X KFEFC FR=FFC
18:00 ZILRYyHY R X FI)—LKEL=FFC FC Liberamente
118298 | 19:00 FC Liberamente X —H-2 =7 Ry—LKES=FPFC
20:00 ERI=7FC X OI=BENFCI=F S—Y-L=7
18:00 BrFA+#FC X FCITY) 50 JKFFC50
12A6H 19:00 V=B FCL =750 X JKFFC50 S—H 24O A
20:00 S—H-Z4HITH X FIY—LKEL=FFC50 | OI=HEHMNFCL =750
18:00 JEIRSSS X FCI+Y $50
12813H 19:00

20:00




